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B.Sc. | -CHEMISTRY (Third Paper), 2006
(Physical Chemistry-i)

Note : Attempt questions in all Sections.
Section A (TS )
Objective Type Questions (FTJFD 7%)

Inst. : Attempt all the seven questions.

1. FA6 TR

(3N 1U @ CPU @) IC (2) I G 7 |
Clock is the part of : :

(a) 1U (b) CPU (c) IC (d) Above all.
2. AT I A 2
The average. velocity is :

_+/8RT _+/ M

@NV= Yy @V = AT

Q) 1V = RT _ aM

@V=8 -y @V=8 RT

@) T @) AR X @) P de (2) IR 9 @1
Iron oxide gel is an example of :

(a) Elastic gel  (b) Non-elastic gel (c¢) Thixotropic gel (d) Above all.

4. f 1 % -t et ¥ zaw 9t P TE @ 2

(3) ¥ 7t fafly (@) ot o} Pty (m) il &t Py (@) P &t fa
Which of the following is not a method of liquefaction of gases ?

(a) Faraday’s method (b) Thomson's, method
(¢) Claude’s method (d) Linde’s method.
5. T8 IEEW % :
(a0 Wi @) = (@) 9rag @) et &1 7 |
Curd is an cxample of :
(a) Sol (b) Gel (c) Emulsion (d) None.
6. NaCl 3TT& R iy fFes & &
() wq@fia @) g (¥) THAI () ST |
NaCl is an example of the following crystal system :
(a) Tetragonal  (b) Cubic (c) Monoclinic (d) Hexagonal.
. 7. ¢ fafly & Ao 3k geyoa F WA A s & a7 e ¥ I A
(3) Fe (@) Ni ®) Pt @) fafehe |

In Haber process the combination of nitrogen and hydrogen to form ammonia
is catalyst by :
(a) Fe (b) Ni (c) Pt (d) Silicate.
Section B (TUE ®)
Short Answer Questions (Fg-3W0Y W¥)

Inst. : Attempt any seven questions.

1. f= Y @ awon @ werar ¥ @ R

Solve the following with the help of log table :

(i) 9.263 x 0.38 (ii) (22.8)"7 (iii) 258 x 181 x 235.2.
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2. —5.748 F NAAYUIE I19 FA |

Find the antilog of —5.748.
3. Fwpet ) difgdt & an & fafew |

Vrite about the gencrations of computers.

4. P %1 famare fafaT : Write the full form of the following :

(i) ROM (i) CPU " (i) ALU (iv) RAM,

5. 27°C R 5 Wiet aiftar & a3 % 3P da % 2 A W gu g N9 F e R
TR T o e ered o # T =EE s

Cal m’I‘wohmolcs of anunoz::is. l:%a\.s are enclosed in a vessel of 5 litres capacity at 27°C.
alculate the pressure exerted by the gas, assuming that the gas behaves like an ideal gas.
6. femelt e T ST ot o are & et @) 39 FIeR 3fwt a1 REeR it :

Calculate the Miller indices of crystal plancs which cut through the crystal
axis at : (a, b, ¢).

7. T INSH q 319 4T g9 & 2
Discuss about unit cell.

8. fFeta AW a1 AfFRHd 3w | o= F ant § ol ife )

Discuss the difference between crystalline and amorphous substance.
9. Wfiea 33 fird F AT a1 woe § 2

What do you mean by Smectic liquid crystal.

10. f1 & 39 ¥ YHFS € ? What do you mean by ?

(i) IR @ o Poisoning of the catalysts

(ii) FOMHF IB | Negative catalysts.

Section C (@08 W)
Long Answer Questions (SH-3009 T9)
Inst. : Attempt any (wo questions.
1. Yo9 Hife F Afulrm 0 2 2 3w qer fadvand & ¥ 2 wey f @
afufiran & <1 serew fad |

What is first order rcaction ? What are its main characteristics ? Give two
examples of first_order reaction. .

2. Fferel (wrargs) F qfowm fafaw | Azt e #t fakward 50 ¥ 7 wia
a1 & forega wftagur fafyr a9 Ydiar fafy &1 avlq @ifag |

Define colloids. What are the characteristics of colloidal systems ? Discuss
clectrolytic dispersion method and peptization method of preparation of sols.

3.Wﬁgmx-mﬁ%ﬁﬁq%m%nmﬁqmﬁml NaCl @
CsCl 31 fiFeea §Taa & Foia Fif |

Derive Bragg's equation for diffraction of X-rays by crystals. Discuss the
crystal structure of NaCl and CsClL.

a. (i) 3t R 2 NG ¥ ey SraEr ¥ faged % ait ¥ s S

What is ideal gas ? Expalin about the deviations from ideal gas behaviour.

(ii) 48°C MY A4 16.40 AGATSH I W T A CO, 1.32 ST Ot @ | g &
T F TR R | (R = 0,082 WX argwved fedt ! A Y

One mole of CO2 occupics 1.32 litre at 48°C temperature and 16.40 atmosphere
pressurc. Calculate the pressure cxerted by the gas. (R =0.082 litre atm.

deg” 'mole 1 L
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